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Question 1

Question Type: MultipleChoice

Refer to the exhibit

age Nnot d or type unknown

Refer to the exhibit. An enterprise network is connected with an ISP network on an 80 Mbps bandwidth link. The network operation team
observes 100 Mbps traffic on the 1Gig-ISP link during peak hours Which configuration provides bandwidth control to avoid traffic
congestion during peak hours?

A)

age not d or type unknown
B)

age not d or type unknown




age not d or type unknown

D)

age not d or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D

Answer:

Question 2




Question Type: MultipleChoice

Refer to the exhibit

age not d or type unknown

Refer to the exhibit Cisco SD-WAN is deployed with controllers hosted in a data center All branches have WAN Edge devices with dual
connections to the data center one via Internet and the other using MPLS Three branches out of 20 have issues with their control
connections on MPLS circuit The local error refers to Control Connection Failure Which action resolves the issue*?

Options:

A) Rectify any issues with the underlay routing configuration
B) Match the TLOC color on the controllers and all WAN Edge devices
C) Match certificates for the DTLS connection and Root CA must be installed first on WAN Edge devices

D) Update the system IP on vManage and then resend it to the controllers

Answer:

A



Question 3

Question Type: MultipleChoice

Refer to the exhibit

Refer to the exhibit vManage and vBond have an issue establishing a connection to vSmart Which two actions does the administrator
take to fix the issue? (Choose two) Install the certificate received from the certificate server.

Options:

A) Manually resync vManage and vBond
B) Reconfigure the vSmart from CLI with the proper Hostname & System IP
C) Delete and re-add vSmart Click Generate and validate CSR

D) Request a certificate from the certificate server based on the CSR for the vSmart

Answer:

C,D

Question 4




Question Type: MultipleChoice

Refer to the exhibit

age not d or type unknown

Refer to the exhibit. An engineer must block FTP traffic coming in from a particular Service VPN on a WAN Edge device Which set of
steps achieves this goal?

Options:

A) Create a localized policy and add it to (he interface feature template
B) Create a localized policy add it to the device template and add an ACL to the interface feature template
C) Create a prefix tat, add it to the localized policy and add it to the interface feature template

D) Create a localized policy add it to VPN template and add an ACL to the interface feature template

Answer:

C



Question 5

Question Type: MultipleChoice

Refer to the exhibit

age not d or type unknown

Refer to the exhibit An engineer must configure a QoS policy between me hub and site A (spoke) over a standard internet circuit where
traffic shaping is adjusted automatically based on evaiiabk bandwidth Which configuration meets the requirement?

age not d or type unknown

age not d or type unknown

Options:

A) Option A
B) Option B



C) Option C
D) Option D

Answer:

D

Question 6

Question Type: MultipleChoice

Refer to the exhibit

age No d or type unknown

Refer to the exhibit Which NAT types must the engineer configure for the vEdge router to bring up the data plane tunnels?

Options:

A) Enable Full Cone NAT on the vEdge interface



B) Use public color on the TLOC
C) Use private color on the TLOC
D) Enable Symmetric MAT on the vEdge interface

Answer:

A

Question 7

Question Type: MultipleChoice

Refer to the exhibit

age not d or type unknown

Options:

A) Recover the vManage controller that is down m a high availability cluster



B) Change the system IP or restart the VWN Edge 4 the system IP is changed
C) Remove IP duplication in the network and configure a unique IP address

D) Recover vBond or wart for the controller to reload which could be caused by a reset

Answer:

C

Question 8

Question Type: MultipleChoice

Refer to the exhibit

age not d or type unknown

Refer to the exhibit A user has selected the options while configuring a VPN Interface Ethernet feature template What is the required
configuration parameter the user must set in this template for this feature to function?

Options:




A) The 'IP MTU' field must be increased from the default value of 1500 to support the additional overhead.
B) The 'Shaping Rate (Kbps)' field must be configured with a value
C) The 'Adaptive QoS' field must be set to 'on'

D) The 'Bandwidth Downstream' field must be configured with a value

Answer:

B

Question 9

Question Type: MultipleChoice

Refer to the exhibit. An enterprise decides to use the Cisco SD-WAN Cloud onRamp for SaaS feature and utilize H.Q site Biz INET to
reach SaaS Cloud for branch C. currently reaching SaaS Cloud directly. Which role must be assigned to devices at both sites in
vManage Cloud Express for this solution to work?

Options:

A) H.Q to be added as Gateway and Branch as DIA.



B) Branch to be added as Client Sites and H.Q as DIA.
C) Branch to be added as DIA and H.Q as Client Site.

D) H.Q to be added as Gateway and Branch as Client Site.

Answer:

B
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